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1 100kN/mM%#EZ % - -~ - -|3m#FEZD -~ - - -] 100kN/ Mm%z 5 - -~ - ~-|3m#EFEZ5 -~ - - -
Zn Lot 1.00] 0.00 ~ 5.39 67.29] #nList | 000 ~ 0.00| 1.74 8.79 Zzh s 1.00] 500 ~ 587 67.29] #nlis | 500 ~ 587 1.74 8.79
2 100kN/mM##B 2% 1.00{ 0.00 ~ 0.91 113.59|3m%EE 25 -~ - - —| 100kN/mM%Z#8 % % 1.00{ 10.63 ~ 13.48 113.59|3m%EEZ 5 -~ - - -
Zh s 1.00] 091 ~ 8.69 100.00] Zh1list |0.00 ~ 8.69] 2.12 10.72 zh st 1.00f 5.00 ~ 10.63 100.00f ZhList | 500 ~ 1348 2.12 10.72
3 100kN/mM##B % % 1.00] 0.00 ~ 147 122.35|3m%#BZ % -~ - - —| 100kN/ Mm%z % 1.00| 10.54 ~ 15,50 122.35|3m%#BZ % -~ - - -
Zh st 1.00] 1.47 ~ 9.25 100.00] #n1lis |0.00 ~ 9.25] 2.35 11.89 zh st 1.00f 5.00 ~ 10.54 100.00f ZhList | 500 ~ 1550 2.35 11.89
4 100kN/mM##B % % - -~ - ~-|3m#FEZ5 -~ - - —| 100kN/ Mm% 2% - -~ - —-|3m#EFBZ5 -~ - - -
Zhns 1.00]0.00 ~ 478 59.51| #nList | 000 ~ 0.00| 1.72 8.72 zh st 1.00f 500 ~ 5.00 59.51| #hblis | 500 ~ 500 1.72 8.72
100kN/mM##B % % ~ ImEHEZD ~ 100kN/mM%i#BZ % ~ ImEBZD ~
Zh s ~ Zh s ~ zh st ~ ZzhnLs ~
100kN/mM##B % % ~ ImEHEZD ~ 100kN/mM%i#BZ % ~ ImEHBZD ~
Zh st ~ Zh s ~ zh st ~ ZzhnLs ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
zhs ~ zhn s ~ zh st ~ zhst ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zzhs ~ zhn s ~ zh st ~ zh s ~
100kN/m%E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
zhs ~ zhn s ~ zh st ~ zhst ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
zhs ~ zhn s ~ zh st ~ Zzh s ~
100kN/m%E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zzhs ~ zhn s ~ zh st ~ zh s ~
100kN/m%#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
LS ~ ZHLS ~ ZThLlst ~ ZTHLSE ~
100kN/m%#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z% % ~ ImEEZD ~
LS ~ ZHLS ~ ZThLlst ~ ZTHLSE ~
100kN/mM%E#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
LS ~ FHLS ~ ZThLlst ~ ZTHLS ~
100kN/m%#BZ % ~ ImEBZD ~ 100kN/m%Z#8 % % ~ ImEEZD ~
ZH LS ~ ZHLS ~ Lot ~ ZHLS ~
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